
Observe the two patterns and fill in the 
blanks to express their relationship.

Relate the Patterns

Pattern A 1 2 3 4 5

Pattern B 2 3 4 5 6

Pattern A 12 14 16 18 20

Pattern B 10 12 14 16 18

Pattern A 10 20 30 40 50

Pattern B 5 15 25 35 45

Each term of Pattern B is ______ __ than 

the corresponding term of Pattern A.

1 more

Each term of Pattern B is ______ __ than 

the corresponding term of Pattern A.

Each term of Pattern B is ______ __ than 

the corresponding term of Pattern A.


